Example Return on Investment Calculation

Return on investment (ROI) is a metric frequently used by DOE to evaluate the cost effectiveness of proposed investments.  ROI examines the projected annual cost after (CA) implementing a project compared to a baseline annual cost before (CB) implementing the project.  Expressed as a formula, ROI is the ratio of anticipated cost savings (CB – CA) to projected implementation cost (CI) expressed as a percentage:
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For an example of an ROI calculation, let us assume that a pollution prevention project has been proposed to replace or solvent based radioactive extraction process (PS) with an aqueous radioactive extraction process (PA).  PI produces 100 M3 of mixed hazardous, low level radioactive waste per year, and PA produces 100 M3 of (non-hazardous) low level radioactive waste.  Implementation cost (CI) to convert to the aqueous process is $1 million.  For simplicity, we will assume that decommissioning costs for both options are equivalent. 
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